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BGGCT-132 : HUMAN GEOGRAPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : (i) Attempt all questions. 

 (ii) Marks are indicated against each 

question.  

1. Answer any five of the following questions : 

4×5=20 

(i) Write a short note on the development of 
human geography during modern period. 

(ii) Explain the importance of time and space 
as basic concepts in human geography. 

(iii) Briefly explain language shifts with 
suitable examples in India. 
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(iv) Differentiate between cultural realm and 
cultural hearth. 

(v) What are nutritional or physiological 
density and agricultural density ? 

(vi) What is age-sex composition ? Why is age-

sex composition important for a society and 
economy ? 

(vii) Explain the term ‘triangular slave trade’ 
with figure. 

(viii) What are transhumance villages ? Discuss 
with suitable examples. 

2. Explain the relevance of human geography in 
the light of its nature and perspective. 15 

Or 

Discuss human adaptations in any three 
different conditions with suitable examples.  

3. Explain the linguistic regions based on 

linguistic families with major languages falling 

in these regions through suitable illustrations 

on the map of India. 15 
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Or 

Illustrate the spatial distribution of major 

religious groups of India.  

4. Explain Population Transition theory with 

special reference to India. 15 

Or 

Describe different types of consequences of 

migration with suitable examples. 

5. Explain the process of urbanisation during 

various phases starting from early 

urbanisation. 15 

Or 

Discuss the morphology of rural settlements. 

6. Answer any two of the following  
questions in about 600 words each : 2×10=20 

(i) Write a note on Environmental 
Determinism. 

(ii) Discuss the spatial distribution of the 
scheduled caste population in India. 
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(iii) Explain the types and characteristics of 
urban settlements. 

(iv)  What are the bases of classification of 

settlements ? Elaborate any two. 
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foKku Lukrd (lkekU;) 

(ch- ,l- lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- th- th- lh- Vh--132 % ekuo Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) lHkh iz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds lkeus vad vafdr gSaA 

1- fuEufyf[kr esa ls fdUgha ik ¡p iz'uksa ds mÙkj nhft, % 

4×5=20 

(i) vk/qfuddky eas ekuo Hkwxksy ds fodkl ij 

laf{kIr fVIi.kh fyf[k,A 

(ii) ekuo Hkwxksy eas le; vkSj LFkku ds egRo dh 

ewy vo/kj.kk ds :i eas O;k[;k dhft,A 
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(iii) mi;q  mnkgj.k ds lkFk Hkkjr esa Hkk"kk 

ifjorZu@foLFkkiu dh laf{kIr O;k[;k dhft,A 

(iv) lkaLd`frd ifje.My vkSj lkaLd`frd mn~xe LFky 

ds chp vUrj Li"V dhft,A 

(v) iks"k.k vFkok dkf;d ?kuRo vkSj d`f"k ?kuRo D;k 

gSa \ 

(vi) vk;q&¯yx la?kVu D;k gS \ ,d lekt ;k 

vFkZO;oLFkk ds fy, vk;q&¯yx la?kVu D;ksa 

egRoiw.kZ gS \ 

(vii) fp=k ds lkFk ^f=kdks.kh; nkl O;kikj* 'kCn dh 

O;k[;k dhft,A 

(viii)½rq izokl xk¡o D;k gSa \ mi;q  mnkgj.k ds 

lkFk bldh ppkZ dhft,A 

2- ekuo Hkwxksy dh izd`fr ,oa ifjizs{; ds vkyksd esa 

ekuo Hkwxksy dh izklafxdrk dh O;k[;k dhft,A 15 

vFkok 

mi;q  mnkgj.k ds lkFk fdUgha rhu ifjfLFkfr;ksa esa 

ekuo vuqdwyu dh ppkZ dhft,A 
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3- Hkkjr ds ekufp=k esa mi;q  fp=k.k dh lgk;rk ls 

buesa vkus okys eq[; Hkk"kkvksa ds lkFk Hkk"kk ifjokj 

vk/kfjr Hkk"kkbZ izns'kksa dh O;k[;k dhft,A 15 

vFkok 

Hkkjr ds eq[; /kfeZd lewgksa ds LFkkfud forj.k dk 

fpf=kr djrs gq, o.kZu dhft,A 

4- Hkkjr ds fo'ks"k lUnHkZ esa tulkaf[;dh; laØe.k 

fl¼kUr dh O;k[;k dhft,A 15 

vFkok 

mi;q  mnkgj.k ds lkFk izokl ds fofHkUu ifj.kkeksa 

dk o.kZu dhft,A 

5- izkjfEHkd 'kgjhdj.k ls 'kq: dj fofHkUu pj.kksa eas 

'kgjhdj.k dh izfØ;k dh O;k[;k dhft,A 15 

vFkok 

xzkeh.k vf/oklksa ds vkd`frd foKku dk o.kZu 

dhft,A 
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6- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj (izR;sd) 

yxHkx 600 'kCnksa esa nhft, % 2×10=20 

(i) i;kZoj.kh; fu'p;okn ;k fu;frokn ij fVIi.kh 

fyf[k,A 

(ii) Hkkjr esa vuqlwfpr tkfr dh tula[;k ds 

LFkkfud forj.k dk o.kZu dhft,A 

(iii) 'kgjh vf/oklksa ds izdkj rFkk fo'ks"krkvksa dh 

O;k[;k dhft,A 

(iv) vf/oklksa ds oxhZdj.k ds vk/kj D;k gSa \ 

fdUgha nks dk foLrkj ls o.kZu dhft,A 
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